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QUESTION 1

Exhibit 

Referring to the exhibit, how do you verify the status of the tunnel from R1? 

A. Issue the ping 172.20.111.10 source 172.20.110.1 command. 

B. Issue the ping 172.20.111.10 source 198.51.100.1 command. 

C. Issue the ping 172.20.iii.io source 203.0.113.2 command. 

D. Issue the ping 172.20. Ill. 10 command. 

Correct Answer: C 

 

QUESTION 2

Exhibit 
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Referring to the exhibit, internal BGP between R1 and R2 is not establishing. What is the problem In this scenario? 

A. R1 does not have a route to 192.168.200.2. 

B. R1 and R2 must each have unique AS numbers. 

C. R1 needs to be configured with an explicit router ID. 

D. R1 needs to be configured with a next-hop self policy. 

Correct Answer: A 

 

QUESTION 3

Click the Exhibit button. 

The routers shown in the exhibit are configured for segment routing. 
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In this scenario, what is the adjacency SID that Router B advertises to Router A? 

A. 11 

B. 10.1.1.2 

C. 10.1.1.1 

D. 12 

Correct Answer: B 

Explanation: Currently, Junos OS enables you to configure a SPRING node SID for IPv4 and IPv6 address families for
each routing instance. This node SID is attached to an IPv4 and IPv6 router ID if the router ID is configured on the
loopback interface. Otherwise, the lowest IP address assigned to the loopback interface is chosen as the node SID.
Configuring a node SID through policy allows you to choose the loopback address that gets the node SID. If the node
SID configuration exists and a policy is defined for node SID selection for the same prefix, then the policy configuration
takes precedence. 

 

QUESTION 4

Exhibit. 

Referring to the exhibit, you have configured an aggregate route that represents the 172.21.0.0/24, 172.21.1.0/24, and
172.21.2.0/24 networks. However, when you view the routing table, your new route hidden. 
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Which action would you perform to determine the problem? 

A. Verify that you have active contributing routes on the device. 

B. Verify that you have configured a policy on the device to accept aggregate routes. 

C. Verify that you have defined a metric value for the aggregate route. 

D. Verify that you have set the preference to a lower default value. 

Correct Answer: D 

 

QUESTION 5

You are asked to create connections between routing instances on the same Junos device and route between the
connected Instances. What are two ways to accomplish this task? (Choose two.) 

A. Use physical interfaces. 

B. Use an IRB interface. 

C. Use logical tunnel interfaces. 

D. Use loopback interfaces. 

Correct Answer: AC 
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